EARAROBREBRT —5 XN—ZXBISH—F

2022098158 (R) 13@REE3H

M ZERE——7TJ0—N\—43 10 HYS5F3m ‘(fﬁ} W ‘I%EH?’JFE‘?] - | 5 1 =
[xE&] 1%&:360,000H  2&:119,000H  3#&:72,000H  43%&:47,000H  53&:32,000H
IR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
< AIFtE : -5-2- - ROXX (BEE)
118110 UFPILVEVRI— 4 3 & 1] 1.(3_9).4 4-5-2-2 | 42.0 5 (4+947) 7J<§§‘)€7&EIZ
RVIVN=ZAT—k 8:TE [SLnEe]
<~ ks FAES :39. -3-1- . - REZR (BEHE)
) A ECAPA AN 4 3 EE (12319/29) 3-3-1-1 | 42.5 4 (5_110) ==
Rib—trya—sy F:I75J4=— R s
o 4 3 | DOERES— 1:40.2 9-9-8-5 |42.2| - 2 465 | ROFE (BEE)
317|8 4031459 54.0 (1172 (-9) |PUEXH
R:€v/0704 B:«40INT Vs &S
» b 3 | RZHIZE 1:41.0 8-8-9-6 |42.9| — 6 419 |REE (REE)
] 2 | ~OFIL ! $52.0 @ (3 |YTS9TRRIXVE (@)
R:O—IVJUY §:373-)L e &3k
— o = TEE 1:41. 7-7-6- 831 - 467 | BHSEH (TR
slgli|S51o718—1 ® 3350 UL &8 |® P E s
Rib—trya—sy B:RU—-LRU—-T— A5
S =~ 3 | AEEE 1:41.2 6-6-7-7 |43.3| — 9 504 | iR (BER)
6179 TLRXTS> e 54.0 @ #2) | ¥ MR
Rir—r75v1 #B:EIF77O0-X BHBUS
= \— 5 4 3 | EEEEK 1:41.5 11-10-10-9 | 42.9| — " 04 | MEBX (BEE)
7155 | SAN=FT« #53.0 a1/2 () |NEEH
RN=F4N=F1 B:U—FIx—FL— FREKS
S~ o FITI5eig : -4-5- - RREEX (BEHE)
N : B2z i 3 e (11.411/.2% 5-4-5-4 | 44.1 7 (4_975) e
RibwFO—)LR H:OUVF FERHBUS
S~ R : -2-3- - BErIR—3 (BhE)
ol s T IL—F— i 3 = 1.{122).2 2-2-3-3 | 44.7 8 gs) s
R T709— BIAYVIUT EH F
T s 3 | HHRA 1:43.7 10-11-11-11| 44.4 | — 10 | 432 |[ROBFE (BEE)
10 1| I¥—E-UR 54.0 ) o | EEER
RE-UR B:/ITFPZN—HU— YhAT7—L
°o— SHEX : -1-4- - BOxX (BaE
1 4 R—7k™ /Y591 R 4t 3 54.05 1(.14/32.)8 1-1-4-10 | 46.3 1 (4_755) EEI}E@ ( )
RIIET7RAT7 B:T7IVAI D7 gilll BT
® 11— —&BIEfI
13—7— 4,6,7,10,3,9,11,2,8,1,5
20—F— 4,6,7,3,10,9,11,2,8,5,1
30—7— 7,10,6,4,3,11,9,8,2,5,1
40—+ — 7,10,6,3,8,2,9,11,5,4,1
0 ILRE
BB 10 2,430 JA R 7-10 2,230M e B 6-8 3,660 3EE 7-8-10 20,460/
B B 10 440 8-10 1,120 5 & 7-10 16,4504 3EH 10-7-8 252,350/
7 310 7-8 760 Ba 10-7 52,490
8 170M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




